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Find the value of:

The formula for the volume of a

Prove that 0.5 x 0. 81 is equal in

Solve:
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(1) 497 3 value to 77 (a) x> +3x—40<0
) The cone has a height of 7.59cm and
2) (4_9)5 a volume of 197.8cm?
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(b) 2x*=5x—-3>0
) Estimate the radius.
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Out of the 32 students. How many have

an arm length greater than 34cm?
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Find an expression in terms of n
for the following sequence

5,13,25,41,61

Make y the subject of:
Z 3 yta

(1ym=">f2

(2) m = 12(p_3y)

(3)x_m=u

Which of these lines are parallel?

(1)y=2x+5
(2)4y=12x-8
(3)3y+6x=9

(4)5y—-10x+2=0
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